Jméno, třída …………………………………….

Opakování ze 4. třídy


1. Napiš si čísla pod sebe a písemně je vynásob:
	2684 ∙ 7


	407857 ∙ 6



2. Vyděl písemně a proveď zkoušku správnosti:
a) 4238 : 5 =
b) 23192 : 8 =
3. Počítej zpaměti:

	7 ∙ 6 = 
	28 : 4 =
	37 + 23 =
	45 - 7 =

	5 ∙ 9 =
	48 : 6 =
	48 + 14 =
	16 - 9 =

	6 ∙ 4 =
	72 : 9 =
	53 + 39 =
	42 - 15 =

	8 ∙ 7 =
	36 : 9 =
	26 + 17 =
	90 - 59 =

	9 ∙ 6 =
	64 : 8 =
	22 - 3 ∙ 4 =
	48 : 8 + 2 =

	6 ∙ 8 =
	42 : 7 =
	4 + 5 ∙ 3 =
	60 - 20 : 2 =


Podpis rodiče …………………………………


